=
S MEOE X (AMSSX/IZNERST)
i

A

SN (B) - MBEAY - B2 0f Ao Soe HRZ2
ZF0IME T & 0t 62,089, 344 60,441,700 1,647,644
= 44,956,803
J| 361,744
= 4,023,755
imi 30,802
Al 12,716,240
HASEE MEUA X (AISEX /I ZMHESE) 7,358,647 8,475,331 N1,116,684
= 5,035,203
J| 361,744
= 452,679
imi 30,802
Al 1,478,219
=0IMET| A 7,358,647 8,475,331 N1,116,684
= 5,035,203
J| 361,744
= 452,679
imi 30,802
Al 1,478,219
ENPSESPNE.] 102,980 103,080 A 100
201 B9y 23,200 23,300 A 100
01 AtR222id] 23,200 23,300 A 100
O1.8t==H| 7,800
-SXEM2AA dbtx2Y| 7,800,000& 7,800
O3.249x% 12,600
XGEON HESIY HMag
70,000& *15H 63| 6,300
X AEOAM MDD EASL
70,000 *15H *63] 6,300
O5. 2 &l 2,800
SSXEH EX FA2LT SA
7,000 *4H 102 *103] 2,800
202 O4H| 20,100 20,100 0
01 =2WAbI 20,100 20,100 0
O=SXEM 2=z 04|
60,000& *3H 52 x93 8,100
O XN HIASE KX AL =& YI
60,0003 x2H x4 *103] 4,800
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SN FOIME XD
HE: HASE MBOY NA(MSSN/IIZLSBEE)
O] AH 5

el F=0IMETA (EH9|:® <)
_ _ MG
2AH -3 - SH2A(SH) - MEAMY - BHES ALl ‘Oﬁ/l\_“’” Hns
OSER& MISXAIE SHEXNESA
60,000& 30 x2 3,600
OAMNZSEXNEHESRH HAET
60,0003 *30H 2 3,600
203 YPRFZIH| 10,000 10,000 0
03 AIEZXHRFLEH| 10,000 10,000 0
OF0METJ FRFXH 10,000,000& 10,000
301 etEA= 1,680 1,680 0
10 SAIAHIEAZ 1,680 1,680 0
OXNGEASXE2AN EHA DAY
60,000 x28H 1,680
307 Q20lIN 48,000 48,000 0
05 QIZtE=2 48,000 48,000 0
OXNEASI=XE AN SHH| 48,000,000 48,000
NA2X MBI ASAALS 57,920 59,140 A1,220
201 LE2AH| 11,020 11,280 A 260
01 AtR222/dl 11,020 11,280 A 260
O1. 82| 7,800
~MHBIAHH LEt=EH| 4,800,000 4,800
-8CH MBIASH & IR0l
10,000& *3005 3,000
O3.249=+4¢ 1,120
-FOMHIA HHUE ZAE
70,000 x2H 2 A| 2t %43 1,120
O5.2 2| 2,100
-NMUIAGHH SRFT A
7,000& *3H 10 *103] 2,100
202 O] 3,600 4,320 AT20
01 2L HI 3,600 4,320 AT20
OAMBIASH SRFXALI
60,0003 *3H x4 2 x53| 3,600
301 etEa3 7,560 7,800 A 240
10 EAIAHIEAZ 7,560 7,800 A 240
Ool2t& e NET-WORK &3 0ddl
60,000& 38 x2 4,560
OsHs SAfd 10| 60,000& *50H 3,000
307 QI2t0l & 35,740 35,740 0




SN FOIME XD
HE: HASE MBOY NA(MSSN/IIZLSBEE)
O] AH 5

ctel: FUMER (e &2

_ _ SIEN
SN EB -GS - MBAY - BES 0 & 24 e HRE2
02 2AAEX 35,740 35,740 0
OJI=FEd3 Motz
100,000& *501 A+ 122 6,000
OJI=xFE¢3 2|
2,974,000 »2CH =57 2 29,740
HARYUES KA 11,360 10,400 960
301 ptEas 9,900 8,400 1,500
01 A2 A 53 2,940 0 2,940
OFRANE /= 20,0003 »49H «33] 2,940
10 BAIAHIENS 6,960 8,400 A 1,440
O™ Xt AHeot 10,000& x10&~12& 1,200
OSOIAIL A (RI2FOI)
60,0002 x1& =128 720
OMAAY L St HX=
30,000& x21+7L 122 5,040
307 QI2t0IA 1,460 2,000 A540
01 2+ =l 1,460 2,000 A540
ORESK =923 30,0003 *30 900

7,000 402 22! 560
Sgol 2XAL2Y(BX) 17,217 11,429 5,788
= 12,062
= 5,165
307 QI2H0|A 17,217 11,429 5,788
= 12,052
= 5,165
05 BIRteEts 17,217 11,429 5,788
ORZ=TAIL 2| 17,217,0008! 17,217
=2 12,052
= 5,165
NEEV T EES =TEES 439,185 1,711,775 A 1,272,590
= 307,429
= 39,527
Al 92,229
307 eI2old 439,185 1,711,775 A 1,272,590
= 307,429




SN FOIME XD
HE: HASE MBOY NA(MSSN/IIZLSBEE)
O] AH 5

el F=0IMETA (EH9|:® <)
_ _ MG
2N -3 - c2(3H) - NEME - HES 0] AFCH bﬂ/l\_w” Hns
307 QI2t0ld = 39,527
Al 92,229
05 QIZtEt=2 439, 185 1,711,775 A 1,272,590
OXNE=EXNAMEIA EXALSY 439,185,000 439,185
= 307,429
< 39,527
Al 92,229
AHEXH 119,031 107,721 11,310
imi 30,802
Al 88,229
101 o124 | 22,650 13,000 9,650
10 JI2ZH22NHSES 22,650 13,000 9,650
OALIO = - ME{ &I EsEXH| (L0
axiel =2E) 22,650
-o1ga 200,000& *15H x7& 21,000
28 2 2U&l 110,000& =15 1,650
201 LBt2A| 8,440 8,700 A 260
01 AtR2t2lbl 8,440 8,700 A 260
O1.g 82| 4,800
-tEng dutZH| 4,800,000& 4,800
03.2g8+Y 1,540
-KHED 2N e EAsY
70,000& * 11 %23| 1,540
O5.2 2| 2,100
-AENE GRFA ZA
7,000& *3Y x10 *103] 2,100
202 OiH| 3,600 4,320 AT20
01 2LHNHI 3,600 4,320 AT720
OXgNg gRFAHYI
60,000 *3H x4 «53| 3,600
301 et a3 54,341 51,701 2,640
ml 30,802
Al 23,539
09 SUA2RRIBAS 2,640 0 2,640
O2U223 =AY
5,0003 x2H +x222 x 12 2,640
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SN FOIME XD
HE: HASE MBOY NA(MSSN/IIZLSBEE)
O] AH 5

o9 FoIMETIR (cHol mel)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
10 AIAHIZ& = 10,200 10,200 0
OXtaAtga Algtal & F3Es 40|
60,0003 x259E 23| 3,000
OXNEANY £AR ==K W0
60,000& x60H 2 7,200
12 JIEt2 &3 41,501 41,501 0
OXA22 X XS AHO0I)
41,501,000& 41,501
o 30,802
Al 10,699
307 QIt0IA 30,000 30,000 0
05 CIZtREZS 30,000 30,000 0
OMASEXNE WEXJ MOHAZ 2
30,000, 000& 30,000
TUE22AIG (BX) 4,879,144 4,792,031 87,113
= 3,903,315
& 195, 166
Al 780,663
307 QI2t0IA 2,314,400 2,500,000 A 185,600
= 1,840,000
& 92,000
Al 382,400
05 BIZtREZ 2,314,400 2,500,000 A 185,600
OAMTHAH, Ate|HLTeld NHE2Z A
i 2,314,400,000& 2,314,400
= 1,840,000
< 92,000
Al 382,400
401 AIEHIZ=20Y] 2,564,744 2,292,031 272,713
= 2,063,315
L= 103, 166
Al 398,263
01 Al&HI 2,414,744 2,112,031 302,713
OAlEE & 22RXE ANE2Z2AY
2,414,744 ,000& 2,414,744
= 1,943,315
< 97,166
Al 374,263




S A
X XH -
(=

el

= MEON N (MSI=X/IIE

AN " .S (3 H) - MEAY

LEA=

20
R
J2H

03 Al&=CHl 150,000 180,000 230,000
ONZY o 22RNE NEIZAY AL
S0y 150,000,000% 50,000
2 120,000
= 6,000
Al 24,000
2 Z(2X) 243,298 221,103 22,195
2 194,638
= 19,464
Al 29,196
01 YsrzaZ 243,298 221,103 22,19
= 194,638
= 19,464
Al 29,196
IEEEEEYE 243,298 221,103 22,19
OXEFAZ X2 (1302) 243,298,0002 243,298
2 194,638
= 19,464
Al 29,196
AR SR ROIAY (2X) 514, 151 494,256 19,895
o 361,744
= 60,963
Al 91,444
307 I2t0|H 514, 151 494,256 19,895
| 361,744
= 60,963
Al 91,444
05 DI2I9IE3 514, 151 494,256 19,895
OJMARIY SR 20IAY(SRII3)
514, 151,000% 514, 151
ol 361,744
= 60,963
Al 91,444
EDS0I4K HABAS(2X) 3,000 3,000 0
= 900
Al 2,100




SN OIS D
HE: HASE MBOY NA(MSSN/IIZLSBEE)
O] AH 5

CHol: ZpIME K|
SA BB CR(SH) - NRAY - A S Ol o e
301 YBtEa= 3,000 3,000
& 900
Al 2,100
12 JIEt2A3 3,000 3,000
OJI=us0laXI HPGFHe=2 X2 (15Y)
3,000, 000& 3,000
< 900
Al 2,100
el ME 2HIA(EX) 12,000 12,000
o= 3,600
Al 8,400
307 2IZ2t0olM 12,000 12,000
& 3,600
Al 8,400
02 QItFAE X 12,000 12,000
OF+2IAGSE 22l X (2H4)
12,000,000& 12,000
< 3,600
Al 8,400
MNASS FHSEMEAMA(EX) 112,500 112,500
L= 33,750
Al 78,750
402 QIZEXE0| M 112,500 112,500
& 33,750
Al 78,750
01 BIZEXI=22 X 112,500 112,500
OMASE FHHAMLAY  112,500,0002 112,500
& 33,750
Al 78,750
=HIH(EE)(EX) 350,000 350,000
= 280,000
= 24,500
Al 45,500
402 QIZEXE01H 350,000 350,000
= 280,000
& 24,500




SN FOIME XD
HE: HASE MBOY NA(MSSN/IIZLSBEE)
O] AH 5

CHol: ZE0IME | 2 (crol a2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
402 QIZtXIE0| A Al 45,500
01 QI2X=2EX 350,000 350,000 0
OMASS FHEEZSW E2lA Y
350,000,000& 350,000
= 280,000
= 24,500
Al 45,500
AMIEEZZ Y 29 L AHI X (EX) 34,070 34,070 0
= 27,256
& 6,814
301 LBt A= 12,070 12,070 0
= 9,656
= 2,414
12 JIEIE A2 12,070 12,070 0
OAMslgszZ=z 03 WA Adl X
12,070,000 12,070
= 9,656
= 2,414
307 Q20| & 22,000 22,000 0
= 17,600
= 4,400
02 0I2tFAE X 22,000 22,000 0
OMBIHZSZ2T8 22)|2 Mg
22,000,000& 22,000
= 17,600
T 4,400
NATEHAH2EH K| (EX) 443,591 433,626 9,965
= 310,513
== 53,230
Al 79,848
307 QIZtolA 443,591 433,626 9,965
= 310,513
== 53,230
Al 79,848
05 QIZILE= 443 591 433,626 9,965
OX A& 29 X2 (3HA)
443,591,000& 443 591




S A

HE: HASE MBON X(AHSN/IEZNEDE)
Ciol: ZoIME TR (crel @2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
= 310,513
== 53,230
Al 79,848
MIEXAIE SAK 2 (EX) 19,200 19,200 0
& 9,600
Al 9,600
307 OQIZt0lH 19,200 19,200 0
= 9,600
Al 9,600
05 QIZIRIES 19,200 19,200 0
ONEIZTIAIL BAT 42 T2
19,200,000& 19,200
== 9,600
Al 9,600
20D ZMEZ A (A 2X /I =MEEE) 50,604,473 47,637,199 2,967,274
= 39,921,600
= 3,571,076
Al 7,111,797
HNASSE Jxzdet2 & 50,604,473 47,637,199 2,967,274
= 39,921,600
= 3,571,076
Al 7,111,797
HASE Jlxzdg BHNA 46,280 64,840 A 18,560
201 Le2g| 9,840 12,500 A2,660
01 At222ldl 9,840 11,900 A2,060
O1.d8t=ZH| 4,800
-MEtE & bt ZH| 4,800,000& 4,800
03.294g 2,520
MEPIANE PR BHLY
70,000& 12 33| 2,520
O5. 2| 2,520
_MESY AeEN 34
7,000& *3H x10 *123] 2,520
202 044l 1,440 1,440 0
01 =2WHbI 1,440 1,440 0




S A
X XH .
(=

chel:

B . o9 ERR:FEE sl e HlRE2
EEES,

60,0003 »2H +3 x43] 1,440

BtEA S 35,000 50,600 A 15,600

AN EEH 35,000 50,000 A 15,000

T2UOHIE AW SSHIIRS

35,000,000& 35,000

oH(E=x) 36,648,333 35,350,711 1,297,622
= 29,318,670
= 2,565,381
Al 4,764,282

detB 4= 36,648,333 35,350,711 1,297,622
= 29,318,670
= 2,565,381
Al 4,764,282

EHA 36,648,333 35,350,711 1,297,622

20| £ 4 47 204

36,648,333,000& 36,648,333
= 29,318,670
= 2,565,381
Al 4,764,282

H(Ex) 9,625,424 9,268, 129 357,295
= 7,700,341
L= 673,779
Al 1,251,304

2eEtE &= 9,625,424 9,268, 129 357,295
= 7,700,341
= 673,779
Al 1,251,304

SEEA 9,625,424 9,268,129 357,295

IBIEY T EHZO

9,625,424 ,000& 9,625,424
= 7,700,341
= 673,779
Al 1,251,304

WESZH(BZ) 1,457,233 1,650,824 A 193,591
= 1,165,788
& 102,005




AN FRMETA D

M AN ZHSE2H (M=KD ZEEEE)

o9 HASS JZNESY CRRE]
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
S0 (ExX) Al 189,440

301 LerEd= 1,457,233 1,650,824 A 193,591
= 1,165,788
L= 102,005
Al 189,440
01 A2 A =53 1,457,233 1,650,824 A 193,591
oWk WEE(
1,457,233,000& 1,457,233
= 1,165,788
= 102,005
Al 189,440
e=SXNXNIAAS(EX) 444 /430 473,174 N28,744
= 355,545
= 35,555
Al 53,330
301 Lptsazg 444,430 473,174 AN28,744
= 355,545
& 35,555
Al 53,330
01 A2 H =03 444,430 473,174 N28,744
OZd==XXEAAS 444,430,000 444,430
= 355,545
= 35,555
Al 53,330
MES WEXIAAS 225,000 0 225,000
301 etEas 225,000 0 225,000
01 A2 E =03 225,000 0 225,000
OAt& el n=sXA 225,000,000 225,000
AaAHEBL2E KR (EX) 33,583 42,000 A8,417
= 26,866
L= 2,687
Al 4,030
301 utEas 33,583 42,000 A8,417
= 26,866
= 2,687
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AN FRMETA D
M AN ZHSE2H (M=KD ZEEEE)
o9 HASS JZNESY CRRE]
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
301 etz Al 4,030
01 A2 HE =03 33,583 42,000 N8,417
OXARAAHNE 2= 2XH 33,583,000& 33,583
= 26,866
< 2,687
Al 4,030
HNASEE BSHALHI(ER) 97,500 85,500 12,000
& 29,250
Al 68,250
301 utEazs 97,500 85,500 12,000
& 29,250
Al 68,250
01 A2I2EEx0l3 97,500 85,500 12,000
OMASE s 97,500,000& 97,500
< 29,250
Al 68,250
HAFHSH(EX) 186,991 162,870 24,121
= 149,595
& 13,088
Al 24,308
301 Lptsaazg 186,991 162,870 24,121
= 149,595
& 13,088
Al 24,308
01 A2 HE =03 186,991 162,870 24,121
ORI ZMEST AT HAZHS
186,991, 000& 186,991
= 149,595
= 13,088
Al 24,308
STASISXHAHA > (EX) 4,000 4,000 0
< 1,000
Al 3,000
202 OdHl 4,000 4,000 0
& 1,000
Al 3,000




AN FRMETA D
M AN ZHSE2H (M=KD ZEEEE)
o9 HASS JZNESY CRRE]
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
04 =Mzt 4,000 4,000 0
O XA S AIALE o2l H 4 X
4,000,000& 4,000
< 1,000
Al 3,000
HAsE WX 223 XA 1,505,992 0 1,505,992
= 1,204,795
& 120,479
Al 180,718
301 LetEa= 1,505,992 0 1,505,992
= 1,204,795
L= 120,479
Al 180,718
01 A2 A =53 1,505,992 0 1,505,992
OMASS UK 2x=3
1,505,992, 000& * 14! 1,505,992
= 1,204,795
= 120,479
Al 180,718
MNASE ALBEE N(EX) 329,707 0 329,707
& 27,852
Al 301,855
301 utEa=s 329,707 0 329,707
= 27,852
Al 301,855
01 A2 H 03 329,707 0 329,707
OMASEE HZEE= XN& 329,707,000 329,707
< 27,852
Al 301,855
SRS AY (FUMS XA OIE/IIE) 54,620 52,160 2,460
QlA2HH(=2 MR 1) 7,500 7,200 300
FANISE2AY| 7,500 7,200 300
203 HERF=4H 7,500 7,200 300
01 JI22dPRF=8Y] 3,300 3,000 300
OJI22LERFLHI(=F) 3,300,000& 3,300
04 BASYALETHY| 4,200 4,200 0
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SN FOIME XD
HE: #H2AAY (F
Sl 0212 H|(3F0 M S X 8 )

SA B (E) - HRAY - B Off &b o8 e HDE2
ORANSZER2FTHI(HA:16Y)
350,000 x12& 4,200
Jl2Z gl (=2 M X&) 47,120 44,960 2,160
2A22 I 10,400 10,400 0
201 LBr29| 10,400 10,400 0
01 At=2teldl 9,920 9,920 0
O1. 82| 6,720
-2EA2gE det=ZH| 3,620,000 3,620
-“2A2E HA4LBEY] 3,100,000 3,100
O5.2 &l 3,200
-2A2E =l 3,200,000 3,200
02 25224l 480 480 0
O1.33222HA 480
-EA2E 2R3 480,000& 480
HRFE AL 36,720 34,560 2,160
202 (44l 36,720 34,560 2,160
01 =UWobl 36,720 34,560 2,160
FTRAUSFAHYI 20,0003 x17H 92« 12& 36,720
MEES(AISIEX /I =MHE2E) 4,071,604 4,277,010 A205,406
LHEHH K= 4,071,604 4,277,010 205,406
JIEtSIH MEZ 4,071,604 4,277,010 A 205,406
701 JIEISIHNEZ 4,071,604 4,277,010 A 205,406
01 JIEISIHEEZ 4,071,604 4,277,010 A 205,406
OA=Zz=0HEESH MEZS 4,071,604,000& 4,071,604
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